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Reinforcement Worksheet 

Mathematics 
Class 4 

Topic: Multiplication and Division 2 
 
Name: _________________________  Section: _____ Date: __________ 
Time: ___________ 
 

Q 1 Encircle the correct option.   

1. 2000ml is equal to  

a) 2 litres     
b) 20 litres        
c) 200 litres 
 

2. Double of 500 is 

a) 1000  
b) 550  
c) 50 
 

3. The product of 50 x 5 is  

a) 250      
b) 200     
c) None 

Q 2 Complete the given table. 
x 40 80 
7   
8   

 

Q 3  State whether the given statements are True and False.   
a) I m is equal to 1/ 1000 km                                                                _____________ 
b) While converting from bigger to smaller units we multiply      _____________ 
c) 50 cups can be filled from 1 lit water                                            _____________ 
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Q 4 Solve  

a) _____   ÷   6  = 6 

b) Water from bucket is poured into glasses 6 times. The bucket capacity is 2 litre. The 
capacity of glasses is  _________________ 

c) 42  ÷ _________ = 6  

d) Product of 20 x 12 

 

 

e) Divide 426 by 6 

 

 

 

 

 

Q 5  How many grams does each kitten eat in a week? 

a) 35 g per day  ________________________________________ 

b) 20 g per day  _______________________________________  

Q 6  Bus can take 10 passengers. How many buses are required to transport a class of 
50 children and their teachers to the stadium?         

            

            

            

       __________________________

 _________________________________________________________ 
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Q 7 Convert these weights from grams to kilograms and grams. 

a) 1200 g = ______ kg ______ g  

b) 1150 g = ______ kg ______ g 

c) 143 m = ______ m ______ cm 

d) 20.5 m=____________ cm 

Q 8 The capacity of 1`can of coca cola is 330 ml. What is the capacity of 10 cans of coca 
cola?                          

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________ 

Q 9 Peter weighs 80 kg. John is 10 kilogram heavier than Peter. How much does John’s 
weigh? 

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________

____________________________________________________________________ 

 

 


